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MATHEMATICS

frfafaa d @ S19-91 =591 18
T TR 7

Which of the following expression is
notequalto 18 ?

(A) 12+(8-2)

B) (14-7)+11

(C) (23-4)-(3+6)

(D) 20-(4-2)

500 Qo Hic + 50 Hto + 5 o o =
o |

500 cm + 50 m + 5 km =
m.

(A) 555

(B) 5055

(C) 55

(D) 500

63606 ¥ 6 3 T W I TTHEA B :
Sum of place value of 6 in 63606 is :
(A) 6606

(B) 6066

(C) 18

(D) 60606

AE 3 TF WX 49,553 7 F i |
364 8,076 T 1 8 WPAM R aun
WY TN 37 SR Forvat | 3 W Tsft
T | e fo o ot e v 8 7

Mohan purchased a scooter for
Rs. 49,553. He paid Rs. 8,076 in cash

JG - 1A/19

(2)

and agreed to pay the remaining
amount in 37 equal instalments. How
many rupees is the amount of each
instaiment ?

(A) 1339
(B) 1021
(C) 1121

(D) 1201

e (H%) =2 (x—%) F1 AR
g ?

1
if (X + ;) = 2, then what will be the

1
x_—
valueof( x) ?

A -3
(B) 12
(c) -1
(D) O

9, 12 Td 18 =1 ¥o "o Yo it |
Find the L.C.M. of 9, 12 and 18.
(A) 24

(B) 27

(C) 36

(D) 54

Contd.
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10.

foelt T 1 30% 3fE 900 B, M =@
@ g 7

If 30% of a number is 900, then what
is that number :

(A) 9000

(B) 300

(C) 3000

(D) 930

af 603 x 28 = 63 x 4 x —, T th
TH WHET R ¢

If 603 x 28 =63 x 4 x —, then what
will be the number in the blank space :
(A) 61 '

(B) 21

(C) 28

(D) 67

wF teTed Uit |} PFAR H 13,15 W

Teit 3t TRER I 7.30 W 3R 95T |
I T @ e fode an ¢

(A) 19 =2 45 fore

(B) 5% 35 e

(C) 12%R 45 Ttz

(D) 18w 15 fime

Atrain left Ranchi at 13.15 on Friday
and reached Dumka at 7.30 on

Saturday. What was the duration of
the January ?

(A) 19 Hours 45 Minutes

(B) 5Hours 35 Minutes

(C) 12 Hours 45 Minutes

(D) 18 Hours 15 Minutes

15 At & fet < g e w2t °
et ol T & TR @ 7

JG-1A/19

(3)

il

12.

13.

The number of minutes in 15 days is
equal to number of seconds in how
many hours 7

(A) 8
(B) 4
(C) 5
(D) 6
TR FMF 25T 14BHATAY

o™ M # | e wiowra B @ |
T ema g ?

In Shreyansh's class 14 out of 25
students ride on a Bus to school.
What percentage of the students do
not ride on the Bus ?

(A) 11
(B) 14
(C) 44
(D) 56
140 x 101 | =1 Mgl 9H,
@ % 14414 7w @ ?

What should be added to the product
140 x 101 to get 14414 ?

(A) 264
(B) 274
(C) 278
(D) 364

1 1

How many % arein % ?
(A) 12

(B) 6

(C) 4

(D) 3

(Turnover)



14, et it 12 Vo o aur 24 Fo o

t |92 @l fawet o @t & e

- R g 7

The perimeter of two squares is
12 cm and 24 cm. The area of bigger
square is how many times that of the
smaller:

(A) 2
B) 3
(C) 4
(D) 5
15. 4 37ent Aol wed vt G ik i afet
aTeft e B wEm w e w7
What is the sum of greatest four digit
number and smallest three digit
number ?
(A) 7000
(B) 9899
(C) 10099
(D) 10999
16. bw Wy R AR 4b = 132 - 32
Find the value of b, if 4b = 132 - 32:
(A) 60
(B) 40
(C) 20
(D) 25
17. A TF ™ A 10 902 § Feav ¥ |
e It Fm Y 15 o2 d war @) AR
T FY-WY HH K, 9 3 A 39
M H fore gu2 & g 7
Mohan does a work in 10 hours,
Sohan does the same work in 15
JG - 1A/19

(4)

18..

18.

20.

hours. If both of them work together,
then in how many hours they will
compute the work.

(A) 6
(B) 8
€ 9
(D) 12

TF a6 F %9 0ea 80 TT R | R
84 T3 & = AT | T T wRwE w4

am ?

Cost price of an article is Rs. 80. It is
sold for Rs. 84. What will be the gain
percentage ?

(A) 15%

(B) 5%

(C) 10%

(D) 20%

Tf2 10 @M 60 ut = 120 Ra & ¥

#a &, 9 5 @ 30 v %) fran Rt &
Yz 5t ?

If 10 people paint 60 houses in 120
days, then how many days will be
needed to paint 30 houses by 5
peoples :

(A) 60

(B) 90

(C) 120

(D) 70

70 1 40% 1A 1 :

Find 40% of 70 :

(A) 28

(B) 14

(C) 38

(D) 20

Contd.



21, 20, 35 3fT 45 =7 "o Ho Yo fAwTe :

Findthe H. C. F. of 20, 35 and 45 :
(A) 10
B 5
(C) 30
(D) 25

22, i TRl 1 3= 66 B | At I

5 : 3 % JgyE & A1 wEA @
L3

(A) 16614 99

(B) 166 1E 98

(C) 166 1= 100

(D) 967& 30

The difference of two whole number
is 66. If they are in ratio of 5 : 3, then
find the numbers :

(A) 165and 99
(B) 166and 98
(C) 166 and 100
(D) 96and 30

23. gRa+b+c=6aumal+b2+c=

26, dt ab + bc + ca 1 A F1 8 ?
a+b+c=6anda+b?+c2=26,
then what is the value of ab + bc +

ca?
(A) O
(B) 2

JG-1A/19

(5)

24.

25.

(C) 4

D) S

fres wum #1 W & ol v fasea =t
A Em ?

Which option will be choosen to fill in
the blank ?

Y29

(A)

(B)

(C)

ol N Bl WN

(D)

afe gu & art & fasor & 20% ot
#, 9 4@ 80 efer qu & forem w7
(A) 20w
(B) 18X
(C) 22
(D) 16T
If a mixture of milk contains 20%

water, then what is the amount of
water in 80 litres of such milk ?

(A) 20litres
(B) 18litres
(C) 22litres

(D) 16litres

(Turn over)
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M I (GK)

g g T4 (GS)
26. WA # fhad T5A 8 7 28, GCEUE W1 WS UH 2
(A) 26 A e
B) 27 (B) €T
(C) 28 () ¥
(D) 29 (D) =@

How many states are in India ?
(A) 26
(B) 27
(C) 28

(D) 29

27. wa % ugafa B E 7
(A) THATE TR
(B) T HiferE
(C) wom &St
(D) = Al
Who is the President of india ?
(A) Ram Nath Govind
(B) Ram Nath Kovind
(C) PranavMukherjee

(D) Narendra Modi

JG - 1A/19

(6)

The oldest religion of Jharkhand :
(A) Hindu

(B) Sarna

(C) Christian

(D) Sikh

29. Premefimarit?

(A) Hifem

(B) &

(C) femm

(D) wREvE

Where is situated Chilka Lake ?
(A) Odisha

(B) Kerala

(C) Bihar

(D) Jharkhand

Contd.



30. Wi ¥ gad QO g e B R 7

31.

(A e

(B) favaraw

(C) wagu

(D) HmEEh

Which is the oldest mountain range

in India ?
(A)
(B)
(C)
(D)

Shivalik
Vindhyachal
Satpura

Aravali

s et T S SRR
a:

(A) @

(B) wHENM

) #m

(D) F A = T

A land mass bounded by sea on

three sides is referred as :
(A)
(B8
(C)

Coast
Peninsula

Island

None of these

(D)

JG - 1A/19

(7)

32. @r® wn d R Faifaa gee @9

33.

&7
A)
B)
(C)
(D)
How many elected members are in

Lok Sabha ?

533
543
547
595

(A)
(B)
(©)
D)
VI 3 e s 1 foRat sifderar sf-sm
1 & a7

(A)
(B)
(C)
(D)

What percent of land is under forest

533
543
547

595

22.80
22.90
23.28
24.20

in India ?
(A)
(B)
(C)
©)

22.80 .
22.90

23.28
24.20

(Turn over)



34

35.

36.

wrove ) 3u-Teurh wE 7
(A) wel

(8) U

(C) g

(D) T+

Where is the sub-capital of
Jharkhand 7

(A)
(B)
(©)
(D)
wg U e o g T A o vt
wE R g ?

(A)y 5

(B) 10

(C) 15

(D) 20

How many permanent members are

there in Security Council of the
United Nation ?

A) 5

(B) 10

(C) 15

(D) 20

TR Feaiel 20 F FA P E ?
(A) TR

B) whe e

(C) s e

(D) THo THo U

Patna
Ranchi
Dhanbad
Dumka

JG-1A/19

(8)

37.

38.

Who is the Captain of football team
of India ?

(A) Ronaldo

(B) Sunil Chhetri

(C) Bhaichung Bhutia
(D) M.S.Dhoni

g &7 A WRA TH TR F B9 A
T g 7

(A) R4 3R, g’]4o

(B) & SHad, §3%9

(C) RE& sHadl, 4o

(D) 2 30T, 2%

In which date did India become
Republic ?

(A) 15August, 1950

(B) 26 January, 1947

(C) 26 January, 1950

(D) 15August, 1947

frm # @ frm Tem § e A T
ey gft 7

(A) €

(B) =

(C) =™

(D) HUHA

In which of the following medium the
speed of light is maximum ?

(A)
(B)
(C)
(D)

Diamond
Water
Glass

Kerosene

Contd.



39. Sfia % YHR &1 71 foRdl WehR 36 S A
YEIF 2 7

(A)

(B)
(C)

(D)

Ig =1 ga Sfat & st st
1 3T FT 2 |

7% St o6l o o e R |
T Sfat & 37 qedfarat @ s
2 .

I Tafy I 379 B! B G
Az AT e |

How an organisms colour aids in its
survival ?

(A)

(B)

(©)

(D)

It makes it easier to separate
species apart

It helps in the reproduction
process

It saves organism from their
predators

it helps off springs to find their
parents

40. foregq Srorem Al @ :

(A)

atan & fory

(B) Uit & ford

(€
(D)

|t & o
o ACC o

Electrical conductivity is maximum

for:

(A)
(B)
(€)
D)

Copper
Aluminium
Silver

Gold

JG-1A/19

(9)

41. tfaen # wW-u1 v dNg B R ?
(A) Wi
(B) e
(C) Nfeifers st
(D) THIF 3
Which acid is present in Amia ?
(A) Citric Acid
(B) Acetic Acid
(C) OxalicAcid

(D) Ascorbic Acid

42, fre A F-a ST g R 7
CYRRLSY
'(B) fem
(C) S=u
(D) =™
Which of the following animal is
Arboreal ?
(A) Squirrel -
(B) Deer
(C) Zebra

(D) Tiger

(Turn over)



43. <&@ & # 0°C ¥ 10°C % ™ for 45 frefifeata S s ofd ?

T & Y STl 1 O ¢

(A) =
(A) aGae @) o
B) weal?
(B) g
(C) wew wga & fort wea R

(D)

(D) e e ¢ fR wgaT @

, i Which of the following is a scalar
When water is heated from 0°C to

10°C then the density of water : quantity ?

(A) Increases (A) Force

(B) Decreases (B) Acceleration

(C) Firstincreases then decreases (C) Power

(D) Firstdecreases thenincreases (D) Momentum

44, FHA-91 TF G QA AT R PP

@ 0 (A) 453.6 f&o mo

®) O
(B) 453.67M

(C) O
(C) 45.367M

(D) & @ FIg 7T

| (D) 45.36 o mo
Which blood group is universal

One pound is equal to

donor ?

A O (A) 453.6 Kg
®) O (B) 45369
() O (C) 45.36g
(D) None ofthese (D) 45.36 Kg

JG-1A/19 (10) Contd.
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47.

48.

X fermererrt et 13 €, S oo R
¥ R e mam wa § | 3w
Hoe ) @R € au e A 8 1A X
e 7

(A) it

(8) wH foraeh

(C) e wel

(D) w=st

X are destructive migrating insects.
They migrate in swams in search of

food. They eat and destroy standing
crops. What are X ?

(A) Locusts

(B) Houseflies

(C) Mona_rch butterflies

(D) Mosquitoes

g <dor & T amh sRfse s e,
TR :

(A) TR gdo

(B) 3« TUW

(C) 3Taaa &ful

(D) (A)E (B)

The mirror in which image formed is
always virtual is ?

(A) Plane mirror

JG - 1A/19

(11)

(B) Convex mirror
(C) Concave mirror

(D) Both (A)and (B)

49 e ¥ o frae g sEwEE R ¢

(A) ¥«

(B), &

(C) 1 Td &N

(D) T & F¢ T

Which is essential for rusting ?
(A) Water

(B) Air

(C) WaterandAir

(D) Noneofthese

50. T STYATIE SO ET 8 :

(A) 7457 W

(B) 745.7 J

(C) 0.7457 W

(D) 0.7457 J

One horse power is equal to
A) T45TW

(B) 745.7 J

(C) 0.7457 W

(D) 0.7457 J

{ Tum over)
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51.

52.

53.

JG -

-(B)

T @ h-T e whfem A R 7
(A) =eH
(B) =&
(C) W

(D) FER

i ¥ FH-91 AR WEAEE G H
FaTET! TE R

(A) 3raTd

(B) ugr

(C) umTeT

(D) =

g’ T wf-frede w8 7
(A)
(B)
(€)

9 + SH
S + S[
|q + S+

(D) wq +<™

T @ F-w1 e g T R 7
(A) =R
T8
(C) &

(D) Hram

1A/19

(12)

55.

56.
. 7

57.

58.

W ¥ HH-1 T TE' w1 wigarE
b8

(A) fagm

® B

(C) framr

(D) T

St et e Tt R, 3gh fore e v

ot
Tesht
wiafef
Farust

(A)
(B)
(C)
(D)
‘go’ T e T TR 7
(A) F

(B) 3w™

© g

(D) v

‘e’ 9g § - J e 7
(A) it

(B) sr=mENE

©) ®a

(D) g

Contd.



59.

60.

61.

62.

63.

JG -

frefRea d A SA-mgm wd T @ ?
(A) gE-gE

(B) wfu-fame

(C) Tirem-wam

(D) WaA-Ead
freaferfas § ¥ -1 9 FYE L ¢
(A) i form areat | |

(B) TEM % eI TH & |

(C) 1ot 3Area guwd |

(D) fepama wgh STt =nfey |
frafafaa § @ FA-01 w2 a& F@A
Fend ? |
(A) =R

(B) emeffam

(C) I

(D) fiardi
Frerin @ 2w e wffem
27

(A) i

(B) W

(C)

(D) weh
Preffiaa 3 @ -1 T SRR 7
(A) T

1A/19

(13)

65.

67.

(B) e

(C) Yo

(D) e

€1 T gETER o g g
(A) i & g

(B) et F

(C) TRETAd F
(D) EETHT FEAT
‘o R AR 7

A T
(B) fmma

(C) &
(D) =1

L e A S g e R ?

(A) T HA VA

(B) 1wt et % forw g@ W1 2w A

(C) d¥ETaM™ T
(D) T T THS
‘Fi s @ 2 | a1 it I

R ?

(Tum over)



68.

69.

70.

71.

()

T A {E T F gAY
(A) T TR @t |
(B) W3 TG el AT R |
(C) 3§ gg dren |
(D) it 3 o i o |

T U T gitmer g

(A) =i 39 e i F w8, e
. gueg 1 e TE | wE |

R e & wa wd I @ W HA
% g <) TS 7 B, IW THHh
frnFed g |

et awg, =, T o % ™
FET FEAE |

T VAT A §9 S Ay
g 2 % i wnm d Fi§ W
WIHTIA: GHTH §3T |

v 3 wiet 3 fore ge @l | W
ve # d@ifpa g F R 7

(A)
(B)
(C)
©)

U 3w 7'M B 39 ue o @i e
TR ?

(B)

D)

Y hRh
3T HRE
LS HE RN IE]

h{Tl &h{h

(A) €
(B) W™

JG-1A/19

(14)

72.

73.

74.

75.

(C) oo
(D) fora fepgroor

‘T S ST HT TS JIT B —

7% f I TR R ?

(A) a9

(B) =Rt

(C) ST

(D) =ameRToft

“TRE R AR BFT gETR 1 3 1
27
(A)
(B)
(€)
(D)
‘TrEfEHE & SR B § ?

(A) TR

(B) T

(C) ==

(D) g

T @ g i v B T
g7
(A)
(B)
(C)
(D)

HqT I

i1 9 Sre

e AT
TREA T ToheAIE B

E]

Contd.




Al

Mental Ability

76. T, 37T O Taht B, AFET WE A BIA ] | SiAEA, HiewT @ e @ | 3R, SiAea ¥ e
? 1 =ard % i gl s FA R 7
(A) T - (B) =Hicwmt (C) W (D) S
Prabha is taller than Amir, but smaller than Pradeep. Jhonson is taller than Karishma.

Amir is taller than Jhonson. Tell that who is smallest. :

(A) Prabha (B) Karishma (C) Pradeep (D) Jhonson

77. U e A guw et A 26 T o R 3R w1 Hrat | 6 T 3 @ Saf w0 wH
3 e wE g % 3 Wed i § 9w 36E HH SW A 17 af @ | IR wan A 50 forenefi &,
a1 Hraeft 1 T A9 | F=Em ,
(A) 30af () 17 af (C) 33af (D) Tt & d et
Sushma is 26 position ahead of Mausami in a class and Rubina is 6 position ahead
of Mausami, Rubina is in middle of Payal and Sushma and her order is 17th from the
top. If there are 50 students in the class then what will be the position of Mausami

from the bottom ?

(A) 30th (B) 17th (C) 33th (D) None of these

78. R fw mu el & fram sma @ 7

How many rectangles are there in the given figure ?

(A) 9 B) 10 Cc) N (D) 12

JG-1A/19 , (15) (Tum over)




79.

' 80.

81.

82.

frefrfad e 3 R e freredt # & wea 9@ (?)%mmaﬁa@ﬁwaﬁgﬁq:

Select the correct option from the given choices to replace the question mark (?:

3 5 5
4 | 88 7 2 |104| 6 717?18
5 8 3
(A) 108 |) 112 (C) 118 (D) 120

fymffaa Tt St T IR FTE FH srpew frd e et e 1

Wirite the given words in the same order as they appear in the dictionary and choose
the correct option :

1. Flinching 2. Flintlock 3. Fiinpites ~ 4. Flintlocks 5. Flinchers

(A) 1,5,2,43 (B) 5.1,2,4,3 (C) 513,24 (D) 5,1,3,4,2

e faftre Fe & “BIOLOGY” #1 “YRLOLTB" feran S R, 59 e W 3 “PHYSICS”
=1 fara wer foran s ?

“BIOLOGY" is written as “YRLOLTB" in a special code language, how will “PHYSICS’

be written in the same code language ?

(A) KSXRBHH (B) KSBHRXH (C) XHRHBSK (D) KSBHXRH

o g e &, frrffiaa faeedt § @ 8 T g S R T = H a1 WA FH
ST S A B

Select the correct option from the given choices which can be framed by using the
letters of the given word :

CAPITULATE

(A) CAPABLE (B) LUPIN (C) pmTY (D) TALE

JG-1A/19 (16) Contd.




83. frafifiga wedt # ws ahyge Hu & aftua A

Arrange the following words in a logical order

1. F2ug 2. 3w 3. g 4, y&a 5. I=
1. Rainbow 2. Rain 3. Sun 4. Happy 5. Child
(A) 2,1,4,3,5 (B) 2,3,1,5,4 (C) 4,2,3,51 (D) 4,51,23

84 fau wu fymeql 4 |/ wre W (7) F WA * fau @w wwm w1 5w
i

Select the correct number from the given choices to fill the blank space (?) :

(A) 12 (B) 18 (Cy 15 D)y 13

85. = feu Ry # Rrepiort Y wem 3w HHfsA

Find the number of Triangles in the given figure

v

N

(A) 26 (B) 27 (C) 28 (D) 29

JG - 1A/19 (17) (Tum over)




86.

87.

88.

& 7l syt | e owE, NoFaRamE:

How many 9 are there in the given seri;es which come after 8 7
0879902999031992796569781967899290

@ 2 (B) 4 C) 5 (D) 6

TR G 5827936 3 wekw @y we i ¥ 1 wer R 9 3k v forw wEn d 4 2 94

fra S, 1) 7 S wE A PR 3 D AR A ?

(A RE7 @®) RE73ks5 (C) 1,537 (D) 4,539

If 1 is subtracted from all even digits and 2 is subtracted from each odd digit

of the number 5827936, which digit will come twice in the new number so

formed ?

(A) Only7 (B) Only5and7 (C) 1,5and7? (D) 4,5and 9

ST ‘SURFACE' 1% 3 a1t 1 sireht aofaren 3 56 & ad & 7 gafe fore md, &t
fpe srerdd 1 o @ @

(A) =R (8) dH (C) = (D) &

If the characters of the word ‘SURFACE' are arranged from left to right
according to the English alphabet then how many characters will have the same
place ?

(A) Four (B) Three (C) One (D) Two

JG-1A/19 (18) Contd.




RER (To To 89 & 91) : T To7 7 aTdf % U FHEI-3TFHT & 7 8 | § SFIT F TF
s T 81 27 wE @ (A), (B), (C) 79 (D) IW-3uaal @ A | I ST # gIAg ot
AT 315 R ee -3 3 T ST 7§ R 31 351 ¢ 13 G-I F e [ e
a7 5 & | @ S g7 OMR 3-93 7 8¢ 3 % ot g 7 fawred (A), (B), (C), (D) F 77
& Me7 et @I %) FI Sie 4 @ W AT |

Direction (Q. Nos. 89 to 91) : There is a problem-figure on the left-hand side, a part of
which is missing. Observe the answer-figures (A), (B), (C) and (D) on the right-hand side
and find out the answer-figure which without changing the direction, fits in the missing part
of the problem-figure in order to complete the pattem in the problem-figure. Select the
comect answer in the OMR Answer Sheet next to each question below the options (A),

(B), (C), (D) by filling up the blank space with black dot pen.

wreT-arg o | ST-HTF T
Problem-figure Answer-figure
89. 3 |
(A) (B) (C) (D)

9

o

® aaag
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91.

92.

(A) (B) (C) (D)

T $aT SR i 3R 5 o Mo T F wrg Ao el AR gEar # | fiR 3 o o @ &
e gt Arft o7 gga R 3 5 Htowto Twran ® | 3w R fag & w@mn 3= o o sweht
e # o1 9 frm R e g 7

(A) qfwm (B) =faor (C) SW-T (D) <fégor-afesm

Aman walks 5 km toward south and then turns to the right. After walking 3 km, he
turns to the left and walks 5 km. Now in which direction is he from the starting
place ? |

(A) West (B) South (C) North-East (D) South-West

RET (To o 93 R 95) : 5T v 7 i 3R wF @wew-3nFla aar T IR TR IN-
st (A), (B), (C) ur (D) & it & | Sor-sirgila #1 GHT St wmean-3gta #1 & g
3 g agas ‘

Direction (Q. Nos. 93 to 95) : There is a problem-figure on the left-hand side and four

answer-figures marked (A), (B), (C) and (D) are given on the right-hand side. Select

the answer- figure which is exactly the mirror image of the problem-figure .

93.

wwe- ATy fy IW-ATHR
Problem-figure Answer-figure
) s - 1 2 [ J -, . *
* ] * ® 3 e = | 3 &%

(A)  (B) (C) (D)
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94.

95.

%

(A)

R (50 o 96 #98) : 32 13 w71 & @ 37 ¥z /e 1 AT 1 3= A7l  ayqg @ e

g
Direction (Q. Nos. 96 to 98) : Choose the word / number which is not similar to the rest
group of three :
96. (A) FEl (B) (C) A= (D) ™
(A) Chair (B) Crow (C) Table (D) Cow
97. (A) =W (B) ‘e (C) et (D) =R
(A) Bus (B) Train ~ (C) Trolley (D) Car
98. (A) W™ (B) 4o (C) ¢} (D) %%
(A) 25 (B) 50 (C) 81 (D) 49
99. PK#AAIR ;K DR wEd; D, JHmE; P JAFucea=fat ?
(A) =t (B) =& (C) =m=h (D) 3wty srferg
P is the mother of K ; K is the sister of D ; D is the father of J. How is P related
tod ? ;
(A) Mother (B) Grandmother (C) Aunt (D) Datainadequate
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100.amA,Bamué%;B,cﬁm%;WC,D%ﬁm%aD.Aammmﬁa%?
(A) d (B) w& (C) st (D) T & T S HeRan

If Ais the brother of B; B is the sister of C ; and C is the father of D, how D is related
toA?

(A) Brother (B) Sister (C) Nephew (D) Cannotbedetermined
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